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Textual Examples

1. Represent the cell in which the following reaction takes place 

 


Calculates its  if 

Watch Video Solution

Mg(s) + 2Ag+ (0.0001M) → Mg2 + (0.130M) + 2Ag(s)

Ecell E Θ
cell

= 3.17V

2. Calculate the equilibrium constant of the reaction :

 
Cu ( s ) + 2Ag+
( aq )

→ Cu2 +
( aq )

+ 2Ag ( a )

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_uDuiXw7DQiQo
https://dl.doubtnut.com/l/_aHUrXgBSekXz


Watch Video Solution

E Θ
( cell )

= 0.46V

3. The standard emf of Deniell cell is  V. Calculate the standard Gibbs

energy for the cell reactions: 

Watch Video Solution

1.1

Zn ( s ) + Cu2 +
( aq )

→ Zn2 +
( aq )

+ Cu ( s )

4. Resistance of a conductivity cell filled with  KCl solution is 

 If the resistance of the same cell when filled with  KCl

solution is  calculate the conductivity and molar conductivity of 

 solution. The conductivity of  KCl solutin is 

 S/m.

View Text Solution

0.1molL− 1

100Ω. 0.02molL− 1

520Ω,

0.02molL− 1KCl 0.1molL− 1

1.29

https://dl.doubtnut.com/l/_aHUrXgBSekXz
https://dl.doubtnut.com/l/_TwTDvoAGHITS
https://dl.doubtnut.com/l/_cPK5jdxuT70Z


5. The electrical resistance of a column  NaOH solution of

diameter 1 cm and length 50 cm is  ohm. Calculate its

resistivity, conductivity and molar conductivity.

Watch Video Solution

0.05molL− 1

5.55 × 103

6. Calculate  for  from the data given in Table 

Watch Video Solution

∧0
m CaCl2 and MgSO4

3.4.

7.  for NaCl, HCl and NaAc are 

respectively. Calculate  for Hac.

Watch Video Solution

∧0
m 126.4, 425.0 and 91.0Scm2mol− 1

∧ (0)

https://dl.doubtnut.com/l/_GdURqBO3bz60
https://dl.doubtnut.com/l/_6OEDdMCeuplv
https://dl.doubtnut.com/l/_9s4MRSEAjmm9


8. The conductivity of  acetic acid is 

 Calculate its dissociation constant if  for

acetic acid id 

Watch Video Solution

0.001028molL− 1

4.95 × 10− 5Scm− 1. ∧ (m)0

390.5Scm2mol− 1.

9. A solution of  is electrolysed for 10 minutes with a current of 

 amperes. What is the mass of copper deposited at the cathode ?

Watch Video Solution

CuSO4

1.5

10. From the concentration of  (butyl chloride) at different times

given below, calculate the average rate of the reaction: 

 


Watch Video Solution

C4H9Cl

C4H9Cl + H2O → C4H9OH + HCl

https://dl.doubtnut.com/l/_6eY8MUSjBIhm
https://dl.doubtnut.com/l/_M8b6a5ebFD79
https://dl.doubtnut.com/l/_H7DH9DzaXbFF


11. The decomposition of  in  at 318K has been studies by

monitoring the concentration of  in the solution. Initially the

concentration of  is  and after 184 minutes, it is

reduced to  The reaction takes placed according to the

equation 

 


Calculate the average rate of this reaction in terms of hours, minutres

and seconds. What is the rate of proudction of  during this period ?

Watch Video Solution

N2O5 CCl4

N2O5

N2O5 2.33molL− 1

2.08molL− 1.

2N2O5(g) → 4NO2(g) + O2(g)

NO2

12. Calculate the overall order of a reaction which has the rate expression 

a) Rate  


d) Rate 

Watch Video Solution

= k[A]1 / 2[B]3 / 2

= k[A]3 / 2[B] − 1

https://dl.doubtnut.com/l/_6fMEtp7FA9Cz
https://dl.doubtnut.com/l/_1dqnGHQJ2ZEr


13. Identify the reaction order from each of the following rate constants. 

i)  


ii) K=3 xx10^(-4)s^(-1)`

Watch Video Solution

k = 2.3 × 105Lmol− 1s− 1

14. The initial concentratin of  in the following first order reaction 


 at 318K. The

concentration of  after 60 minutes was 

Calculate the rate constant of the reaction at 138 K.

Watch Video Solution

N2O5

N2O5(g) → 2NO2(g) + (g)was1.24 × 10− 2molL− 11

2O2

N2O5 0.20 × 10− 2molL− 1.

15. The following data were obtained during the first order thermal

decomposition of  (g) at constant volume : 


 


N2O5

2N2O5(g) → 2N2O4(g) + O2(g)

https://dl.doubtnut.com/l/_jbBJkZgAr1NL
https://dl.doubtnut.com/l/_xwK8p8dsIv38
https://dl.doubtnut.com/l/_zbBUhJHKExfo


 


Calculate the rate constnat.

Watch Video Solution

16. A first order reaction is found to have a rate constant,

 Find the half- life of the reaction.

Watch Video Solution

k = 5.5 × 10− 14s− 1.

17. Show that in a first order reaction, time pequired for fompletion of

 is 10 times of half-life  of the reaction.

Watch Video Solution

99.9 % (t1 / 2)

https://dl.doubtnut.com/l/_zbBUhJHKExfo
https://dl.doubtnut.com/l/_W7xfqVcKdixp
https://dl.doubtnut.com/l/_vf5hlTx4yRLq


18. Hydrolysis of methyl acetate in aqueous solution has been studied by

titrating the liberated acetic acid against sodium hydroxide. The

concentration of the ester at different times is given below. 

 


Show that it follows a pseudo first order reaction, as the concentration of

water remains nearly constant  during the course of the

reaction. What is the value of k in this equation? 

Rate 

Watch Video Solution

(55molL− 1),

= k' [CH3COOCH3][H2O]

19. The rate constants of a reaction at 500 K and 700 K are

 respectively. Calculate the values of  and A.

Watch Video Solution

0.02s− 1 and 0.04s− 1 Ea

https://dl.doubtnut.com/l/_FYdMPDqdwO6q
https://dl.doubtnut.com/l/_xNE1iqldAvDx


Problems

20. The first order rate constant for the decomposition of ethyl iodide by

the reaction. 

 It is energy

of activation is 209 kJ/mol. Calculate the rate constant of the reaction at

700 K.

Watch Video Solution

C2H2I(g) → C2H4(g) + HI(g)at600Kis1.60 × 10− 5s− 1.

1. The standard potentials of some electrodes are as follows. Arrange the

metals in an increasing order of their reductiong power. 

Watch Video Solution

1)K + /K = − 2.93V   2)Ag+ /Ag = 0.80V   3)Cu2 + /Cu = 0.34V

4)Mg2 + /Mg = − 2.37V   5)Cr3 + /Cr = − 0.74C   6)Fe+ /Fe = −

https://dl.doubtnut.com/l/_T3rY1My9J1ju
https://dl.doubtnut.com/l/_pvLFT5ReroPB


2. Calculate the emf of the cell at  


 given that 

Watch Video Solution

25∘C

Cr∣∣Cr
3 + (0.1M)∣∣∣∣Fe

2 + (0.01M)∣∣Fe,

E0
Cr3 + /Cr

= − 0.74V and E0
Fe2 + /Fe

= − 0.44V

3. Calculate the potential of a  electrode in which the

molarity of  is  Given that  


Watch Video Solution

Zn − An2 +

Zn2 + 0.001M. E0
Zn2 + /Zn

= − 0.76V

R = 0.314JK − 1mol− 1, F = 96500Cmol− 1.

4. Determine  for the button cell used in the watches. The cell

reactions is 

 


Watch Video Solution

ΔG0

Zn ( s ) + Ag2O ( s ) H2O ( l ) → Zn2 +
( aq )

+ 2Ag ( s ) + 2OH −
( aq )

E0
Ag + /Ag

= + 0.80V , E0
Zn2 + /Zn

= − 0.76V .

https://dl.doubtnut.com/l/_a6nXkXEBR9Il
https://dl.doubtnut.com/l/_HAjM9uPOtylP
https://dl.doubtnut.com/l/_MKCqdtK99SzX


5. Calculate the emf of the cell consisting the following half cells 

 Given that 

Watch Video Solution

Al/Al3 + (0.001M), Ni/Ni2(0.50M). E0
Ni2 + /Ni

= − 0.25V

EAl3 + /Al = − 1.66V (log 8 × 10− 6 = − 5.0969).

6. Determine the values of  for the following reacton 


 


E^(0) =1.05V.`

Watch Video Solution

Kc

Ni ( s ) + 2Ag+
( aq )

→ Ni2 +
( aq )

+ 2Ag ( s )

7. Calculate the potential of the half-cell containing 0.1 M 

 The half-reaction 


 


Watch Video Solution

K2Cr2O7 ( aq ) , 0.2MCr3 +
( aq )

and 1.0 × 10− 4MH +
( aq )

.

Cr2O
2 −
7 ( aq )

+ 14H +
( aq )

+ 6e− → 2Cr3 +
( aq )

+ 7H2O ( l )

(E0ofCr2O
2 −
7 /Cr3 + = 1.33V )

https://dl.doubtnut.com/l/_wFcbcpaKtIbz
https://dl.doubtnut.com/l/_5yyYTroYkB4i
https://dl.doubtnut.com/l/_SIzc1glC136B


8. Calculate  for the reaction at 298 K 


 


Watch Video Solution

Kc

Zn ( s ) + Cu+ 2
( aq )

⇔ Zn2 +
( aq )

+ Cu ( s )

E0
Zn2 + /Zn

= − 0.76V , E0
Cu2 + /Cu

= + 0.34V .

9. Calculate the emf of the cell at 298 K 

 1 atm. Pt 


Given that 

Watch Video Solution

Sn ( s )
∣∣Sn

2 + (0.05M)∣∣∣∣H
+
( aq )

(0.02M)∣
∣H2

E0
sn2 + /Sn

= − 0.144V

10. Calculate the concentration of silver ions in the cell constructed by

using  M concentration of  ions. Cu and Ag metals are

used as electrodes. The cell potential is  V. 

Watch Video Solution

0.1 Cu2 + and Ag+

0.422

[EAg2 + /Ag = 0.80V , ECu2 + /Cu = + 0.34V ]

https://dl.doubtnut.com/l/_25ltEuD2cyfN
https://dl.doubtnut.com/l/_aHEnuGjXt5Hz
https://dl.doubtnut.com/l/_RtS4nwtGAKRz


11. Calculate the emf of the cell with the cell reaction 

 


Watch Video Solution

Ni ( s ) + 2Ag+ (0.002M) → Ni2 + (0.160M) + 2Ag ( s )

E0
cell

= 1.05V .

12.  


 


For what concentration of  ions will the emf of the cell be zero at 

 The concentration of  is 0.1M. 

Watch Video Solution

Cu2 + + 2e− ⇔ Cu, E0 = + 0.34V

Ag+ + e− ⇔ Ag, E0 = + 0.80V

Ag+

25∘C. Cu2 + (log 3.919 = 0.539).

13. The conductivity of  solution of KCl at 298 K is 

Calculate molar conductance.

Watch Video Solution

0.20M 0.0248Scm− 1.

https://dl.doubtnut.com/l/_LkBR4udFiHNf
https://dl.doubtnut.com/l/_K6UqCZl8ooxn
https://dl.doubtnut.com/l/_sFvtZg0xlt0A
https://dl.doubtnut.com/l/_ROZWYXZky0VF


14. Calculate the degree of dissociation  ltbr

Given that  


 


Watch Video Solution

(α)ofCH3COOHat298K.

∧∞
CH3COOH

= 11.75cm2mol− 1

∧∞
CM3COO

− = 40.65cm2mol− 1

∧0
H + = 349.15cm2mol− 1

15. A reaction is  completed in 2 hours and  conmpleted in 4

hours. What is the order of the reaction.

Watch Video Solution

50 % 75 %

16. A reaction has a half-life of 10 minutes. Calculate the rate constant for

the first order reaction.

Watch Video Solution

https://dl.doubtnut.com/l/_ROZWYXZky0VF
https://dl.doubtnut.com/l/_aKy6Cn6r6JGP
https://dl.doubtnut.com/l/_ZiCmXkyU8Soh


17. In a first order ractin, the concentration of the reaction is reduced

from 0.6 mol /L to 0.2 mol/L in 5 min. Calculate the rate fconstnat (k).

Watch Video Solution

18. The rate constant for a zero order reaction in A is 

How long it will take for the initial concentration of A to fall from 0.10 M

to 

Watch Video Solution

0.0030molL− 1s− 1.

0.075M.

19. A first order decomposition reaction takes 40min. For 

decomposition. Calculate it's  value.

Watch Video Solution

30 %

t1 / 2

https://dl.doubtnut.com/l/_NcMCwYJLzC4u
https://dl.doubtnut.com/l/_6i1aUeEUwQm0
https://dl.doubtnut.com/l/_hXLeUuR3GAe1


20. Calculate the half-life of first order reaction whose rate constant is

Watch Video Solution

200s− 1.

21. The thermal decomposition of HCOOH is a first order reaction. The

rate constant is  at a certain temperature. Calculate how

long will it take for 3/4 of initial quantity of HCOOH to decompose

Watch Video Solution

2.4 × 10− 3s− 1

22. The decomposition of a compound is found to follow first order rate

law. If it takes 15 minutes for  of original meterial to react, calculate

the rate constant.

Watch Video Solution

20 %

https://dl.doubtnut.com/l/_sOqqnp1H4w1O
https://dl.doubtnut.com/l/_oMMSfBqsmDBf
https://dl.doubtnut.com/l/_iklpiqMdP9kE


23. In a pesudo first order hydrolysis of ester in water, the following

results are obtained 

 


Calculate the averagte rate of reaction between the time inverval 30 to 60

s.

Watch Video Solution

24. The half-life for a first order reaction is  s. What percentage of

the initial reactant will react in 2 hours ?

Watch Video Solution

5 × 106

25.  decomposes to  in a first reaction w.r.t. 

 The rate constant is  How long it will

take  of the sample of defcompose ?

Watch Video Solution

H2O2 ( aq ) H2O ( l ) and O2 ( g )

H2O2. k = 1.06 × 10− 3min− 1.

15 %

https://dl.doubtnut.com/l/_84sb7mv8o2jl
https://dl.doubtnut.com/l/_BtQ2SyS4JhCZ
https://dl.doubtnut.com/l/_PK2QrfFQTqZd


Watch Video Solution

26. Show that in the case of first order reaction, the time required for

 completion of the reaction is 10 times that required for 

completion 

Watch Video Solution

99.9 % 50 %

(log 2 = 0.3010)

27. The rate constant of a reaction is doubled when the temperature is

raised from 298 K to 308 K. Calculate the activation energy.

Watch Video Solution

28. The first order rate constant for the decomposition of ethyl iodide by

the reaction. 

 It's energy

of activation is 209 kJ/mol. Calculate the rate constant of the reaction at

700 K.

C2H2I(g) → C2H4(g) + HI(g)at600Kis1.60 × 10− 5s− 1.

https://dl.doubtnut.com/l/_PK2QrfFQTqZd
https://dl.doubtnut.com/l/_iWVfxGVDT5Xw
https://dl.doubtnut.com/l/_LZwZVnRE4wjv
https://dl.doubtnut.com/l/_LZOVEXWLgl3j


Watch Video Solution

29. The activation energy for the reactio 

K is  Calculte the fraction of molecules having energy

equal to or grater than activation energy. 

Watch Video Solution

2HI ( g ) → H2 ( g ) + I2 ( g ) at581

209. 5kJ /mol.

[R = 8.31JK − 1mol− 1]

30. For a reaction , the concentration of a reactant changes from

0.03 M to 0.02M in 25 minutes. Calculate the average rate of the reaction

using the units of seconds.

Watch Video Solution

R → P

31. In a reaction  Products, the concentration of A decreases from 

 to  in 10 minutes. Calculate the rate during this

interval.

Watch Video Solution

2A →

0.5molI − 1 0.4molL− 1

https://dl.doubtnut.com/l/_LZOVEXWLgl3j
https://dl.doubtnut.com/l/_EOcqZZwuwfkH
https://dl.doubtnut.com/l/_QoeHF8UkByKk
https://dl.doubtnut.com/l/_wKZxkxJLzWdh


32. For a reaction,  Product : the rate law is given by 

 What is the order of the reaction ?

A. 3

B. 2

C. 5/2

D. 5/4

Answer: C

Watch Video Solution

A + B →

r = k[A]
1 / 2

[B]
2

33. The convertion of molecules X to Y follows second order kinetics. If

concentration of X is increased by three times, how will it affect the rate

of formation of Y.

Watch Video Solution

https://dl.doubtnut.com/l/_wKZxkxJLzWdh
https://dl.doubtnut.com/l/_43ivlT4N3skn
https://dl.doubtnut.com/l/_MI93Sl5UwqmL


34. A first order reaction has a rate constatn  How long

will 5 g of this reactant take to reduce to 3 g ?

Watch Video Solution

1.15 × 10− 3s− 1.

35. Time required to decompose  to half of its initial amount is 60

minutes. If the decomposition is a first order reaction, calculate the rate

constant of the reaction.

Watch Video Solution

SO2Cl2

36. From the rate expression for the following reactions, determine their

order of reaction and the admensions of the rate constants. 

 


ii) 

iii)  


i)3NO(g) → N2O(g)         Rate = k[NO]2

H2O2(aq) + 3I − (aq) + 2H + → 2H2O(l) + I3           Rate = k[H2O2][I −

C2H5Cl(g) → C2H4(g) + CO(g)         Rate = k[CH3CHO]3 / 2

https://dl.doubtnut.com/l/_QwA4dSuiVqg0
https://dl.doubtnut.com/l/_2Qq3lheRp1qZ
https://dl.doubtnut.com/l/_XHj4lh02OyCj


iv) 

Watch Video Solution

C2H5)Cl(g) → C2H2 → C2H4(g) + HCl(g)           Rate = k[C2H5Cl]

37. For the reaction  the rate  with 

 Calculate the initial rate of the reaction

when  Calculate the rate of

reaction after [A] is reduced to 

Watch Video Solution

2A + B → A, B, = K[A][B]2

k = 2.0x10− 6vmol− 2L2s− 1.

[A] = 0.1molL− 1, [B] = 0.2molL− 1,

0.06molL− 1.

38. The decomposition of  on platjinum surface is zero order

reaction. Want are the rates of production of

Watch Video Solution

NH3

N2 and H2 if k = 2.5 × 10− 4mol− 1Ls− 1.

https://dl.doubtnut.com/l/_XHj4lh02OyCj
https://dl.doubtnut.com/l/_QH6exjaAaCDj
https://dl.doubtnut.com/l/_0FcnYfA4fb3n


39. The rate expression for the decomposition of dimethyl ether in terms

of partial pressures is given as Rate  If the

pressure is measured in bar and time in minutes, then what are the units

of rate and rate constant ?

Watch Video Solution

= k(pCH3OCH3)3 / 2.

40. A reaction is second order with respect to a reactant. How is the rate

of reaction is affected if the concentration of the reactant is i) doubled ii)

reduced to half

Watch Video Solution

41. A reaction is first order in A and second order in B. 

i) Write the differential rate equation 

ii) How is the rate affected on increasing the concentrations of B there

times ? 

https://dl.doubtnut.com/l/_O44ZgJbcf9kD
https://dl.doubtnut.com/l/_t9El78D2VQQi
https://dl.doubtnut.com/l/_t1CImlA5vsjA


iii) How is the rate effected when the concentrations of both A and B are

doubled ?

Watch Video Solution

42. In a reactio between A and B, the initial rate of reaction  was

measured for different initial concentrations of A and B as given below : 

 

What is the order of the reaction with respect to A and B?

Watch Video Solution

(r0)

43. The following results have been obtained during the kinetic studies of

the reaction : 

 
2A + B → C + D

https://dl.doubtnut.com/l/_t1CImlA5vsjA
https://dl.doubtnut.com/l/_UJagBepvBYiV
https://dl.doubtnut.com/l/_RUvq5Q3Zcf1U


 


Determine the rate law and rate constant for the reaction.

Watch Video Solution

44. The rate constant for a first order reaction is  How much time

will it take to reduce the initial concentration of the reactant to its 

value ?

Watch Video Solution

60s− 1.

1/6th

45. For a first order reaction,k show that the time required for 

completion is twice the time required for completion of  reaction.

Watch Video Solution

99 %

99 %

https://dl.doubtnut.com/l/_RUvq5Q3Zcf1U
https://dl.doubtnut.com/l/_OeqjHlTuKN7M
https://dl.doubtnut.com/l/_KksA8txgLqHF
https://dl.doubtnut.com/l/_6XBBIxjVesUh


46. For the decomposition of azosiopropane to hexane and nitrogen at

543 k, the following data obtained. 

 

Calculate the rate constant.

Watch Video Solution

47. The following data were obtained during the first order thermal

decomposition of  at a constant volume. 


 


 

Calculate the rate of reaction when total pressure is  atm.

Watch Video Solution

SO2Cl2

SO2Cl2(g) → SO2(g) + Cl2(g)

0.65

https://dl.doubtnut.com/l/_6XBBIxjVesUh
https://dl.doubtnut.com/l/_3IOfM7NQjFI2


48. The rate constant for the decomposition of hydrocarbons is

 at 546 K. If the energy of activatin is 

What will be the value of per-exponential factor ?

Watch Video Solution

2.418 × 10− 5s− 1 179.9kJ /mol.

49. Consider a certain reaction  Products with 

Calculate the concentration of A remaining after 100 s if the initial

concentration of A is 

Watch Video Solution

A → k = 2.0 × 10− 2s− 1.

1.0molL− 1.

50. Sucrose decompose in acid solution into glucose and fructose

according to the first order rate law, with  hours. What fraction

of sample of sucrose remains after 8 hours ?

Watch Video Solution

t = 3.001

2

https://dl.doubtnut.com/l/_3IOfM7NQjFI2
https://dl.doubtnut.com/l/_rgq3QplSDN65
https://dl.doubtnut.com/l/_ORe5oiijQAsj
https://dl.doubtnut.com/l/_DvVKgdTHi2fu


51. The decomposition of hydrocarbon follows the equation 

 Calculate 

Watch Video Solution

K = (4.5 × 1011s− 1)e− 18000K /T . Ea.

52. The rate constant for the first order decomposition of  is given

by the following equation  Calculate  for

this reactin and at what temperature will its half-life period be 256

minutes ?

Watch Video Solution

H2O2

: logk = 14.34 − 1.25K/T . Ea

53. The decomposition of A into product has value of k as

 and energy of activation  At what

temperature would k be 

Watch Video Solution

4.5 × 103s− 1at10∘C 60kJmol− 1.

1.5 × 104s− 1 ?

https://dl.doubtnut.com/l/_f5qotwAr0bvs
https://dl.doubtnut.com/l/_w8iL9GXv4IDu
https://dl.doubtnut.com/l/_Vtg58ZqDozdp
https://dl.doubtnut.com/l/_HPfoEe6oziTM


Very Short Answer Questions

54. The time required for  completion of a first order reaction at 298

K is equal to that required for its  completiion at  If the value

of A is  calculate k at 318K and 

Watch Video Solution

10 %

25 % 308K.

4 × 1010s− 1. Ea,

55. The rate of a reaction quadruples when temperature charges from 293

K to 312K, Calculate the energy of activation of the reaction assuming

that it does not charge with temperature.

Watch Video Solution

1. What is a galvanic cell or a valtaic cell ? Give one example.

Watch Video Solution

https://dl.doubtnut.com/l/_HPfoEe6oziTM
https://dl.doubtnut.com/l/_U2UEBG1SqZg7
https://dl.doubtnut.com/l/_sZhfGwNOE7lS


2. Write the chemical reaction used in the construction of the Daniell cll

together with the half-cell reactions.

Watch Video Solution

3. Name the two half-cell reactions that are taking place in the Daniell cell.

Watch Video Solution

4. Hos is a galvanic cell rpresented on paper as per IUPAC convention ?

Give one example.

Watch Video Solution

5. Write the cell reaction taking plce in the cell 

Watch Video Solution

CU( s )
∣
∣Cu

+ 2
( aq )

∣
∣ ∣ Ag+

( aq )
∣
∣Ag ( s )

https://dl.doubtnut.com/l/_OiQ2pUBjvJVZ
https://dl.doubtnut.com/l/_ttA4q4cNGeHk
https://dl.doubtnut.com/l/_Wn5HtJVx3gEp
https://dl.doubtnut.com/l/_SSgSW1rvsCu2


6. What is standard hydrogen electrode ?

Watch Video Solution

7. Give a neat sketch of standard hydrogen electrode.

Watch Video Solution

8. What is Nernst equation ? Write the equation for an electrode with

electrode reaction 

Watch Video Solution

M n+ (aq) + ≠− ⇔ M(s).

9. A negative  indicates that the rodox couple is  reducing couple

than  couple. (powerful or weak)

Watch Video Solution

E0 ____

H + /H2,

https://dl.doubtnut.com/l/_SSgSW1rvsCu2
https://dl.doubtnut.com/l/_T3jZkZaV1mM9
https://dl.doubtnut.com/l/_IFsCV2GdgkVG
https://dl.doubtnut.com/l/_gt3uSMoffBke
https://dl.doubtnut.com/l/_PKPoXhBFzf57


10. A positive  indicates that the redox couple is a weaker  couple

than  couple. (oxidising or reducing)

Watch Video Solution

E0 _____

H + /H2

11. Write the Nernst equation for the EMF of the cell 

Watch Video Solution

Ni ( s )
∣
∣Ni +2 +

( aq )
∣
∣ ∣ Ag+

( aq )
∣
∣Ag

12. Write the cell reaction for which 

Watch Video Solution

Ecell = E0
cell

− ln
RT

2F

[Mg2 + ]

[Ag+ ]2

13. How is  cell related mathematically to the equilibrium constant 

of the cell reaction ?

E0 Kc

https://dl.doubtnut.com/l/_PKPoXhBFzf57
https://dl.doubtnut.com/l/_zbionE8YiLj5
https://dl.doubtnut.com/l/_jJjFoll6tT6T
https://dl.doubtnut.com/l/_ptnoIbpSrYEL
https://dl.doubtnut.com/l/_ZA9ecI9l9nu6


Watch Video Solution

14. How is Gibbs energy (G) related to the cell emf (E) mathematically ?

Watch Video Solution

15. Diffine conductivity of a material. Give its SI units.

Watch Video Solution

16. What is cell constant of a conductivity cell ?

Watch Video Solution

17. Define molar conducticity  and how is it related to conductivity (K)

?

Watch Video Solution

∧m

https://dl.doubtnut.com/l/_ZA9ecI9l9nu6
https://dl.doubtnut.com/l/_NMbn6eoTgNIj
https://dl.doubtnut.com/l/_wq9whdJcUMmA
https://dl.doubtnut.com/l/_jkeDkGvATeYP
https://dl.doubtnut.com/l/_Zo9uvpXBUf5u


18. Give the mathematical equation which gives the variation of molar

conductivity with  the molarity (c ) of the solution ?

Watch Video Solution

∧m

19. State Kohlrausch's law of independent magration of ions.

Watch Video Solution

20. State Faraday's first law of electrolysis.

Watch Video Solution

21. State Faraday's seconed law of electroystis.

Watch Video Solution

https://dl.doubtnut.com/l/_Zo9uvpXBUf5u
https://dl.doubtnut.com/l/_1hW7AJHV7H44
https://dl.doubtnut.com/l/_JUSMHC0Lf4Zv
https://dl.doubtnut.com/l/_1rfixVOZjuDm
https://dl.doubtnut.com/l/_zkvq2ZHIaXb8
https://dl.doubtnut.com/l/_sFOPVWa8QSYg


22. What are the products obtainded at the platinum anode and the

platinum cathode respectively in the electrolystis of fused or molten NaCl

?

Watch Video Solution

23. Give the products obtained at the platinum electrodes (cathode and

anode) when aqueous solution of  is electrolysed.

Watch Video Solution

K2SO4

24. Give the chemical equation that represents the reduction of liquid

water  at the platinum cathode.

Watch Video Solution

H2O ( l )

25. Give the chemical equation that represents the reduction of liquid

water  at the platinum cathode.H2O ( l )

https://dl.doubtnut.com/l/_sFOPVWa8QSYg
https://dl.doubtnut.com/l/_DhJCMnfbh7Oe
https://dl.doubtnut.com/l/_weewTXyCQYtF
https://dl.doubtnut.com/l/_OtdqLtGdi0XY


Watch Video Solution

26. What is a primary battery ? Give one example.

Watch Video Solution

27. Give one example for a secondary battery. Give the cell reaction.

Watch Video Solution

28. Give the cell reaction of nickel-cadimuim secondary battery.

Watch Video Solution

29. What are the fuel cells ? How are they different from galvanic cells ?

Give the construction of  fuel cell ?

Watch Video Solution

H2, O2

https://dl.doubtnut.com/l/_OtdqLtGdi0XY
https://dl.doubtnut.com/l/_WtsuiWL17YiC
https://dl.doubtnut.com/l/_XrjNBuaAY2Gf
https://dl.doubtnut.com/l/_PGEqIYNypycR
https://dl.doubtnut.com/l/_Srf8hYWW9GE3


30. Give the electrode reactions occuring at the anode and at the cathode

in  fuel cell.

Watch Video Solution

H2, O2,

31. What is metallie corrosion ? Give one example.

Watch Video Solution

32. Give the electro-chemical reaction that represents the corrosion or

rusting of iron.

Watch Video Solution

33. Define the speed or rate of a raction.

Watch Video Solution

https://dl.doubtnut.com/l/_Srf8hYWW9GE3
https://dl.doubtnut.com/l/_uTGozvP7JC83
https://dl.doubtnut.com/l/_EabbwuZ5g7dk
https://dl.doubtnut.com/l/_jYhHaoJm8ZP2
https://dl.doubtnut.com/l/_GGaDywg8Jeto


34. Assuming that the volume of the system is constant, derive the

average rate of the system  in terms of R and P. [time ='t' sec] [R

=reactant, P= product].

Watch Video Solution

R → p

35. What are the units of rate of reaction ?

Watch Video Solution

36. Drawn the graphs that relate the concentrations (C ) of the reactants

and the reaction times (t) and the concentrations of the products(C ) and

the reaction times (t) in chemical reactions .

Watch Video Solution

https://dl.doubtnut.com/l/_GGaDywg8Jeto
https://dl.doubtnut.com/l/_t2SGSuDJ7mVB
https://dl.doubtnut.com/l/_FeAiO5ywpOGy
https://dl.doubtnut.com/l/_0l3pxrHe6GVb


37. Write the equation for rthe rate of the reaction 

Watch Video Solution

5Br−
( aq )

+ BrO−
3 ( aq )

+ 6H +
( aq )

→ 3Br ( aq ) + 3H2O ( l )

38. What is rate law ? Illustrate with an example.

Watch Video Solution

39. Mention a reaction for which the exponnts of concentration terms are

not the same as their stoichiometric coefficients in the rate equation.

Watch Video Solution

40. Define order of a reaction. Illustrate your answer with an example.

Watch Video Solution

https://dl.doubtnut.com/l/_eGQiZdvj7i0h
https://dl.doubtnut.com/l/_faglelSpGDt0
https://dl.doubtnut.com/l/_5YMLz4iGOkQB
https://dl.doubtnut.com/l/_q4fQDFYsCAvg
https://dl.doubtnut.com/l/_7iezECX8rjb2


41. What are elementary reactions ?

Watch Video Solution

42. What are compelex reactions ? Name one complex reaction.

Watch Video Solution

43. Give the units of rate constants for Zero, first order and second order

reactions.

Watch Video Solution

44. Define molecularity of a reaction, Illustrate with an example.

Watch Video Solution

https://dl.doubtnut.com/l/_7iezECX8rjb2
https://dl.doubtnut.com/l/_ONrGDIrSgYh5
https://dl.doubtnut.com/l/_EXt16OViTaLN
https://dl.doubtnut.com/l/_40SsbU1ELMgA


45. What is rate determining step in a complex reaction ?

Watch Video Solution

46. Give the mechanism for the decomposition reacton of  in

alkaline medium catalysed by  ions.

Watch Video Solution

H2O2

I −

47. Write the equation relating  and reaction time 't' for a zero

order reaction.  concentration of reactant at time 't' and 

initial concentration of reactiant.

Watch Video Solution

[R], [R]0

[R] = [R]0 =

48. Drawn the graph that the concentration 'R', of the reactant and 't' the

reaction time for a zero Order reaction.

https://dl.doubtnut.com/l/_Soj7o8wdSTWp
https://dl.doubtnut.com/l/_q3xE0RZ9FzLJ
https://dl.doubtnut.com/l/_kcqsWK2mq4IH
https://dl.doubtnut.com/l/_axGlS0VYonyR


Watch Video Solution

49. Give two examples for zero order reaction.

Watch Video Solution

50. Write the intergrated equation for a fiest order reaction in terms of

 and 't'.

Watch Video Solution

[R], [R]0

51. Give two examples for gaseous first order reactions.

Watch Video Solution

52. For the reaction  write the intergrated rate

equation in terms of total pressure 'P' and the partial pressures

A(g) → B(g) + C(g),

https://dl.doubtnut.com/l/_axGlS0VYonyR
https://dl.doubtnut.com/l/_SB4nFR0b0uH2
https://dl.doubtnut.com/l/_2y12S7vuiNiC
https://dl.doubtnut.com/l/_pzZKAFDJFi2o
https://dl.doubtnut.com/l/_tdeCo9wnYJVG


Watch Video Solution

PAPBPC.

53. What is half-life of a reaction? Illustrate your answer with an example.

Watch Video Solution

54. Write the equation relating the half-life  of a reaction and the

rate constant 'k' for first order reaction.

Watch Video Solution

(t1 / 2)

55. Write the equation useful to calculate half-life  values for zero

and first order reactions.

Watch Video Solution

(t1 / 2)

https://dl.doubtnut.com/l/_tdeCo9wnYJVG
https://dl.doubtnut.com/l/_cAfFpnbhMmHq
https://dl.doubtnut.com/l/_ENxPemQFAA29
https://dl.doubtnut.com/l/_OWYIJl0NYSw5


56. What are pseudo first order reactions ? Give one example.

Watch Video Solution

57. Write the Arrhenius equation for the rate constant (k) of a reaction.

Watch Video Solution

58. By how many times the rate constant inhcreases for a rise of reaction

temperature by  ?

Watch Video Solution

10∘C

59. Explain the term 'activation energy' of a reaction with a suitable

diagram.

Watch Video Solution

https://dl.doubtnut.com/l/_OZGw64GKr5ND
https://dl.doubtnut.com/l/_mbQshz6kCOmt
https://dl.doubtnut.com/l/_geAEQzx5Fhyk
https://dl.doubtnut.com/l/_jEHcVnKCbJG9
https://dl.doubtnut.com/l/_Vh79eyJjGntY


60. Write the equation which ralates th rate constants  at

temperatures  of a reaction.

Watch Video Solution

k1 and k2

T1 and T2

61. What is collision frequency (Z) of a reaction ? How is rate related to it

for the reaction  Products.

Watch Video Solution

A + B →

62. Draw the graphs between potential energy - reaction coordinates for

catalysed and uncatalysed reactions.

Watch Video Solution

63. What is the effect of temperature on the rate constant ?

Watch Video Solution

https://dl.doubtnut.com/l/_Vh79eyJjGntY
https://dl.doubtnut.com/l/_N7hIudIXtzWR
https://dl.doubtnut.com/l/_xT5Xuw31jOwO
https://dl.doubtnut.com/l/_zaYApM2xPeOx


Short Answer Questions

1. What are galvanic cells ? Explain the woriking of a galvanic cell with a

neat sketch taking Denicell cell as example.

Watch Video Solution

2. Give the construction and working of a standard hydrogen electode

with a neat diagram.

Watch Video Solution

3. State and explain Nernst equation with the help of a metallic electrode

and a non-metallic electrode.

Watch Video Solution

https://dl.doubtnut.com/l/_zaYApM2xPeOx
https://dl.doubtnut.com/l/_UC480674H1DP
https://dl.doubtnut.com/l/_eaUQASyrokZ3
https://dl.doubtnut.com/l/_rTiRAQSFhfNv
https://dl.doubtnut.com/l/_vcbDoGEohLCY


4. Explain with a suitable example the relation between the gibbs energy

of chemical reaction (G) and the functioning of the electrochemical cell.

Watch Video Solution

5. On what factors the electrical conductance of an aqueous solution of

electrolyte depends ?

Watch Video Solution

6. How is molar conductivity of an aqueous electrolyte solution measured

experimentally

Watch Video Solution

7. Explain the varition of molar conductivity with the charge in the

concentration of the electrolyte. Give resons.

Watch Video Solution

https://dl.doubtnut.com/l/_vcbDoGEohLCY
https://dl.doubtnut.com/l/_sEHlWqawJ78J
https://dl.doubtnut.com/l/_qxFrV4XKX7yX
https://dl.doubtnut.com/l/_Z5tFp5Ixjikh


8. State and explain Kohlrausch's law of indendent migration of ions.

Watch Video Solution

9. What is electrolysis ? Give Faraday's first law of electrolysis.

Watch Video Solution

10. What are the products obtained at the cathode and anode during the

electrolysis of the following when platinum electrodes are used in the

electrolysis 

a) Molten b)  solution c)  solution

Watch Video Solution

Aq. CuSO4 Aq. K2SO4

11. What are primary and secondary batteries ? Give one example for each.

https://dl.doubtnut.com/l/_Z5tFp5Ixjikh
https://dl.doubtnut.com/l/_RAH2qxDsJFJb
https://dl.doubtnut.com/l/_okTSdQmvONxk
https://dl.doubtnut.com/l/_KAR1LKQCDSAW
https://dl.doubtnut.com/l/_B3q3uYIu6Upq


Watch Video Solution

12. What are the fuel cells ? How are they different from galvanic cells ?

Give the construction of  fuel cell ?

Watch Video Solution

H2, O2

13. What is metallic corrosion ? Explain it with respect to iron corrosion.

Watch Video Solution

14. Define average rate of a reaction. How is the rate of reaction

expressed in term of charge in the concentration of reactansts and

products for the following reactions. 

1)  


2)  


3) 

Watch Video Solution

2HI ( g ) → H2 ( g ) + I2 ( g )

Hg ( l ) + CL2 ( g ) → HgCl2 ( g )

5Br ( aq ) + BrO−
( aq )

+ 6H +
( aq )

→ 3Br2 ( aq ) + 3H2O ( l )

https://dl.doubtnut.com/l/_B3q3uYIu6Upq
https://dl.doubtnut.com/l/_uXOQ1Ku2W5hq
https://dl.doubtnut.com/l/_xWsc9GSf0YEt
https://dl.doubtnut.com/l/_r7uwlR57qL2Q


15. What is rate equation ? How is it obtained ? Write the rate equations

for 

1)  


2)  


3) 

Watch Video Solution

2NO(g) + O2(g) → 2NO2(g)

CHCl3 + Cl2 → CCl4 + HCl

CH3COOC2H5(l) + H2O(l) → CH3H5OH(aq)

16. Define and explain the order of a reaction. How is it obtained

exprimentally ?

Watch Video Solution

17. What is "molecularity" of a reaction ? How is it different from the

'order' of a reaction? Name one bimolecular and one trimolecular

gaseous reactions.

W t h Vid S l ti

https://dl.doubtnut.com/l/_r7uwlR57qL2Q
https://dl.doubtnut.com/l/_pMRV3tSW1IC7
https://dl.doubtnut.com/l/_utg0KH1m9T89
https://dl.doubtnut.com/l/_mlAdsXWq47DI


Watch Video Solution

18. Derive the intergrate rate equation for a zero order rection.

Watch Video Solution

19. Derive an integrated rate equatin for a first order reaction.

Watch Video Solution

20. Derive an integrated rate equation in terms of total pressure (P) and

the partial pressures  for the gaseous reaction 

Watch Video Solution

PA, PB, PC

A(g) → B(g) + C(g).

21. What is half-life  of a reaction ? Derive the equations for the

'half-life' value of zero and first order reactions.

(t1 / 2)

https://dl.doubtnut.com/l/_mlAdsXWq47DI
https://dl.doubtnut.com/l/_xzjelhinxdE1
https://dl.doubtnut.com/l/_rZsg7DRqrJ20
https://dl.doubtnut.com/l/_nxDsyZHitfUZ
https://dl.doubtnut.com/l/_066P6pS06xu2


Watch Video Solution

22. What is Arrhenius equation ? Derive an equation which describes the

effect of rise of temperature (T) on the rate constant (k) of a reaction.

Watch Video Solution

23. Discuss the effect of catalyst on the kinetics of a chemical reaction

with a suitable diagram.

Watch Video Solution

24. Give a detailed account of the Collision theory of reaction rates of

biomolecular reaction.

Watch Video Solution

https://dl.doubtnut.com/l/_066P6pS06xu2
https://dl.doubtnut.com/l/_cvCpvhAQy0Xb
https://dl.doubtnut.com/l/_pHqWQ0FoS8Kg
https://dl.doubtnut.com/l/_bOa3b80aXpeL


Long Answer Questions

25. Explain the terms 

a) Activation energy  


b) Collision frequency (Z) 

c) Probability factor (P) with respect to Arrhenius equation.

Watch Video Solution

(Ea)

1. What are electro chemical cells ? How are they constructed ? Explain

the working of the different types of galvanic cells ?

Watch Video Solution

2. What is electrical conductance of a solution ? How is it measured

experimentally ?

Watch Video Solution

https://dl.doubtnut.com/l/_RHmGhuVxkyF1
https://dl.doubtnut.com/l/_y2aVDTr4CrXv
https://dl.doubtnut.com/l/_BO3fBFLG3lvH


3. Give the applications of Kohlracsch's law of independent migration of

ions.

Watch Video Solution

4. Given the different types of batteries and explain the construction and

working of each type of battery.

View Text Solution

5. Explain the terms with suitable exapmples. 

Average rate of a reaction

Watch Video Solution

6. Explain the terms with suitable exapmples. 

Slow and fast reactions

https://dl.doubtnut.com/l/_BO3fBFLG3lvH
https://dl.doubtnut.com/l/_nKU7L53Apow7
https://dl.doubtnut.com/l/_sx3Zvjl6vQmn
https://dl.doubtnut.com/l/_GRXZpsZAmXh1
https://dl.doubtnut.com/l/_cZLFivHCVQ38


Watch Video Solution

7. Explain the terms with suitable exapmples. 

Order of a reaction

Watch Video Solution

8. Explain the terms with suitable exapmples. 

Molecularity of a reaction

Watch Video Solution

9. Explain the terms with suitable exapmples. 

Activation energy of reaction.

Watch Video Solution

https://dl.doubtnut.com/l/_cZLFivHCVQ38
https://dl.doubtnut.com/l/_1nKG3WRyKljM
https://dl.doubtnut.com/l/_3xQJzkz8pPRm
https://dl.doubtnut.com/l/_ndNCxAAU5fyc


10. Give two examples for each of zero order and first order reactions.

Write the equations for the rate of reaction in terms of concentration

changes of reactants and products for the following ractions. 

1)  


2)  


3) 

Watch Video Solution

A(g) + B(g) → C(g) + D(g)

A(g) → B(g) + C(g)

A(g) + B(g) → C(g)

11. Discuss the effect of temperature on the rate of a reaction. Derive

necessary equations in this contaxt.

Watch Video Solution

12. Give a detailed account of the collision theory of reaction rates of

biomolecular geseous reactions.

View Text Solution

https://dl.doubtnut.com/l/_AdH5HTFgEqnG
https://dl.doubtnut.com/l/_OIe6xvfrFXNJ
https://dl.doubtnut.com/l/_hXtph776Wrzl


Intext Questions

1. How would you determine the standard electrode potential of the

system 

Watch Video Solution

Mg2 + /Mg?

2. Can you store copper sulphate soolutions in a zinc pot ?

Watch Video Solution

3. Consult the table on standard electrode potentials and suggest three

substance that can oxidise ferrous ions under suitable conditions.

Watch Video Solution

4. Calculate the potential of hydrogten electrode placed in a solution of

pH 10.

https://dl.doubtnut.com/l/_R8KWCcy1MKL8
https://dl.doubtnut.com/l/_Qc51qpHndIUN
https://dl.doubtnut.com/l/_kD89d9lDYDed
https://dl.doubtnut.com/l/_sScwY6mxvClM


Watch Video Solution

5. Calculate the emf of the cell with the cell reaction 

 


Watch Video Solution

Ni ( s ) + 2Ag+ (0.002M) → Ni2 + (0.160M) + 2Ag ( s )

E0
cell

= 1.05V .

6. The cell in which the following cell reaction occurs, 

 


has  at 298 K. Calculate the standard Gibbs energy and the

equilibrium costant of the cell reaction.

Watch Video Solution

2Fe3 +
( aq )

+ 2I −
( aq )

→ 2Fe2 +
( aq )

+ I2 ( s )

E0
cell

= 0.236V

7. Why does the conductivity of a solution decrease with dilution ?

Watch Video Solution

https://dl.doubtnut.com/l/_sScwY6mxvClM
https://dl.doubtnut.com/l/_i0Pz1h5uNGra
https://dl.doubtnut.com/l/_yxVNywJxT7q8
https://dl.doubtnut.com/l/_YR4azjBejFjv


8. Suggest a way to determine the  value of water .

Watch Video Solution

Λ0
m

9. The molar conductivity of  methanoic acid is 

 Calculate its degree of dissociation and dissociation

constant. 

Given,  


Watch Video Solution

0.025molL− 1

46.1Scm2mol− 1.

λ0(H + ) = 349.6Scm2mol− 1

and λ0(HCOO− ) = 54.6Scm2mol− 1

10. If a current of  ampere flows through a metallic wire for 2h, then

how many electrons would flow through the wire ?

Watch Video Solution

0.5

https://dl.doubtnut.com/l/_YR4azjBejFjv
https://dl.doubtnut.com/l/_ZurMnMvUUk1A
https://dl.doubtnut.com/l/_OIYwrmvVCQpK
https://dl.doubtnut.com/l/_C43Ogo9OtFDa


11. Suggest a list to metals that are extracted electrolytically.

Watch Video Solution

12. Consider the reaction, 

 


What is the quantity of electricity in coulombs needed to reduce 1 mole

 ?

Watch Video Solution

Cr2O
2 −
7 + 14H + + 6e− → 2Ce3 + + 7H2O

Cr2O
2 −
7

13. Write the chemistry of recharging the lead stronge battery,

highlighting all the materials that are involved during recharging.

Watch Video Solution

https://dl.doubtnut.com/l/_RPaYfghkCJPA
https://dl.doubtnut.com/l/_NqCeIJnXxHsf
https://dl.doubtnut.com/l/_YrYEnOh4wPFG


14. Suggest two materials other than hydrogen that can be used as fuels

in fule cells.

Watch Video Solution

15. Explain how rusting of iron is envisaged as electrochemical cell.

View Text Solution

16. For the reaction, , the concentration of a reactant changes fro

0.03 M to 0.02 in 25 min. Calculate the average rate of reaction using

units of time both in minutes an second.

Watch Video Solution

R → P

17. In a reaction  Products, the concentration of A decreases from 

 to  in 10 minutes. Calculate the rate during this

2A →

0.5molI − 1 0.4molL− 1

https://dl.doubtnut.com/l/_1cD3FBkXcmdr
https://dl.doubtnut.com/l/_ztffWOBe9lN6
https://dl.doubtnut.com/l/_GR51eJ3tGJdS
https://dl.doubtnut.com/l/_F0405SZEDuqD


interval.

Watch Video Solution

18. For a reaction,  Product : the rate law is given by 

 What is the order of the reaction ?

Watch Video Solution

A + B →

r = k[A]1 / 2[B]2

19. The convertion of molecules X to Y follows second order kinetics. If

concentration of X is increased by three times, how will it affect the rate

of formation of Y.

Watch Video Solution

20. A first order reaction has a rate constatn  How long

will 5 g of this reactant take to reduce to 3 g ?

Watch Video Solution

1.15 × 10− 3s− 1.

https://dl.doubtnut.com/l/_F0405SZEDuqD
https://dl.doubtnut.com/l/_qv9yzQzZfbIZ
https://dl.doubtnut.com/l/_xeGYWdkhqfld
https://dl.doubtnut.com/l/_8A2KBQCMqlj4


21. Time required to decompose  to half of its initial amount is 60

minutes. If the decomposition is a first order reaction, calculate the rate

constant of the reaction.

Watch Video Solution

SO2Cl2

22. What is the effect of temperature on the rate constant ?

Watch Video Solution

23. The rate constant of the chemical reaction doubled for an increase of

10 K in absolute temperature from 298 K. Calculate .

Watch Video Solution

Ea

https://dl.doubtnut.com/l/_8A2KBQCMqlj4
https://dl.doubtnut.com/l/_97rLESrp0FhW
https://dl.doubtnut.com/l/_v6hdYIsIifnf
https://dl.doubtnut.com/l/_JSzCcRPt4m3x


Dam Sure

24. The activation energy for the reactio 

K is  Calculte the fraction of molecules having energy

equal to or grater than activation energy. 

Watch Video Solution

2HI ( g ) → H2 ( g ) + I2 ( g ) at581

209. 5kJ /mol.

[R = 8.31JK − 1mol− 1]

1. Diffine conductivity of a material. Give its SI units.

Watch Video Solution

2. State Faraday's seconed law of electroystis.

Watch Video Solution

3. State Kohlrausch's law of independent magration of ions.

https://dl.doubtnut.com/l/_JgQ4zA8Ka9kL
https://dl.doubtnut.com/l/_VrigcEOavMeY
https://dl.doubtnut.com/l/_NrX5W1jrXt7a
https://dl.doubtnut.com/l/_HcjYonQSy1u4


Watch Video Solution

4. Define electrochemical equivalent (e.c.e).

Watch Video Solution

5. State and explain Kohlrausch's law of indendent migration of ions.

Watch Video Solution

6. Define emf. Calculat the emf of the following galvanic cell : 

 


 (Cathode)

Watch Video Solution

Zn ( s ) + Cu+ 2
( aq )

→ Zn+ 2
( aq )

+ Cu ( s )

E0
zn+ 2 /Zn = 0.76V (anode), E0

cu+ 3 /Cu = + 0.34

7. Write Nernst equation for a metal and non metal eletrode.

https://dl.doubtnut.com/l/_HcjYonQSy1u4
https://dl.doubtnut.com/l/_Iyk8IvBYHvjx
https://dl.doubtnut.com/l/_LHnjKGtdKBWX
https://dl.doubtnut.com/l/_CXLH34dwGiSs
https://dl.doubtnut.com/l/_ZOKeunSSZ031


Watch Video Solution

8. What is Rate of a reaction

Watch Video Solution

9. What is Rate equation (or) Rate expression (or) Rate Law ?

Watch Video Solution

10. Write the difference between Order and Molecularity of a reaction.

Watch Video Solution

11. A first order reaction is found to have a rate constant,

 Find the half- life of the reaction.

Watch Video Solution

k = 5.5 × 10− 14s− 1.

https://dl.doubtnut.com/l/_ZOKeunSSZ031
https://dl.doubtnut.com/l/_VA3XnPjaaVWZ
https://dl.doubtnut.com/l/_RihTbvK45rLb
https://dl.doubtnut.com/l/_xwHXVMGhRO2G
https://dl.doubtnut.com/l/_CFNwvIerNXF7


12. What is Zero Order reaction ?

Watch Video Solution

13. What is First Order reaction ? Give example.

Watch Video Solution

14. What are pseudo first order reactions ? Give one example.

Watch Video Solution

15. What is Half life of a reaction ?

Watch Video Solution

https://dl.doubtnut.com/l/_CFNwvIerNXF7
https://dl.doubtnut.com/l/_oXEuzpBp6UXY
https://dl.doubtnut.com/l/_9xRC19gSID2r
https://dl.doubtnut.com/l/_U2DIQzuxPL1D
https://dl.doubtnut.com/l/_qaTBKv28FENN


16. Give two example for gaseous first order reactions.

Watch Video Solution

17. What is a second order reaction ? Give one example.

Watch Video Solution

18. Explain the factors influencing rate of reaction.

Watch Video Solution

https://dl.doubtnut.com/l/_1Oddo5ziFAhz
https://dl.doubtnut.com/l/_UCim6es657Uv
https://dl.doubtnut.com/l/_INOtjeorPpDp

